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— DIXOP 77299X AN 18:3”571
And an 23y does not require any trimming

OVERVIEW

71 72 727 rejected s'01° 27 explanation that the Xn»22 of M7 is discussing a case
of Wwx°p (which would explain why the 1213 is 7237 and can make it a 7awnna *93,
since there was nwyn MW of wx°p as well). The reason we cannot be discussing
WXP is because the &n»172 of MW is (also) discussing a case of X2X¥°y and an X2X°V
does not require ¥1¥°p in order for it to be designated as a mawnna *95. There is
however an exception to this rule of ¥1¥°p 73°7¥ 71X X2¥°y. Our NMvOIN will explain
that notwithstanding this exception the argument of 3317 72 7727 1s still valid.

mooIn anticipates a difficulty:
— NYKPY NYHY 3PYNT RN 1M

However whenever he planned to trim the leather of an X2¥°y, the X3 —

— MIWISPIY TY NNINVT (5,78 97 0onan) HNOVN OF P92 12299N
states in nRwr 27 P99 that the X2x°y is 79170 until he trims it. This seemingly poses a
difficulty for 311 32 727, Perhaps the &n>92 is discussing a case where the owner (or the 171)
intended to trim the X2%°y (which makes it at this point not susceptible to 8™ n?2p, and when
the 1713 trimmed it (and it becomes XMW 2P *1RN) this is a valid 7wyn "W (together with WXY),
to enable the 717> to be effective.

mooIN negates this concept:
— MNP NI YNNYAY NMNIT 11927 929V XON P27 DIPN Yon

Nevertheless 7117 27 72 727 properly infers here that since the X2x°v is fit to be

used without 1399, therefore -

:995 NYYN MY YN NHY NIND PN
The 137 of the X2¥°v cannot be considered a sufficient mwwn s at all to
enable the 1713 to acquire it (even with wI°). It is as if there was no nwyn done to the Xa¥y; at
most there was only ¥R,

SUMMARY

If a utensil does not require (essentially) any modification (to be n¥» 22pn) then
any modification the owner decides to make is not considered a qwyn "1 (even
though it will not be X0 22pn until this modification is done).

" An X2x°V is a table (top) made from leather.
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THINKING IT OVER
How do we reconcile that on one hand it is not 782 9277 unless he is ¥¥pPn and on
the other hand the ¥7%°p is not considered a 7wyn "rw?*

2 See n'"m.
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